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Instruction : (A) Attempt all questions,
(i) SAEVFHATER T@fes 15U |
Draw the diagrams / sketches wherever necessary,
(ifi) W I 15 / 20 T ¥ W& § Tafts foeg femma ¥
In Question Nos. 15 1o 20, internal options are given.
(iv) e =ifim o, R vl & wefas s s Yt fem U ¥,
I TUM W I 9Pl / FrResi & 1-1 farg ferdi

Visually impaired students will write 1-1 point of speciality of

that places in the map-making questions.
(v) 799 afaa om Feswia 7@l F 3w A TE qUH % WE W
Fae fargam faam)

llearing impaired students will write the long answer type

questions with points only. http://www.cgboardonline.com

m-378+  IIEUNA P.T.0.

003 7 «



Frger

Instruction

[2]

: () T B 1 IS v 2 TRE e (A), U2 (9)

GUE (V) ¥ 1 7% @wog § g 399 § a9 uaQs w9 % fau
1-1 @ Eifeg ¥

: (B) Question No. 1 is an objective type question. There are

three Sections—(A), (B) and (C) in it. Five questions are
given in each section and each question carries 1 mark.

W1 wUE-( 3) Ul faemey e fafan

Section-(A) Choose and write the correct option !

)

(é0)

WRA &1 TR e 3eamees g ¥

(&) IS

() T WV

(¥) odaTg

(7) ¥@ve

The only tin-producing state in India is :
(@) Orissa

(6) Madhya Pradesh

(¢) Chhattisgarh

(d) Jharkhand

THIVITEIATE! AT 1Y & o ¥

(3n) Ford €. W, dege

(&) femifora

(7)) Wwefew Eoe _

(%) et W

The writer of the book named Anthropogeography is :
(a) Kumari E, C. Sampul

() Dimenzia

(¢) Friedrich Ratzel

(@) Karl Souwer

1<l
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TRa § W YS! FE1 A FE a* et 2
(37) Tk § o

(7) TR A

(7) T | AR

(3) g% Qe

Where did the first train in India run?
(a) Mumbai to Thane

(6) Mumbai to Punc

(¢) Mumbai to Nagpur

(d) Mumbai to Goa

ST HHNA F1 IS §

(37 €@R F=t

(%) e wan

(&) Sracen ganMA

(3) <iie gamA

An example of inexhaustible resource 1s :

(a) Solar energy
(b) Petroleum resources

(c) Coal resources
(d) Iron resources
wfys snfa e ¥ .
(37) IS I

(3) dite-gem 3un
(§) S T Ium
() S I=m

Mineral based industry is

'(a) Paper industry

() Iron-steel industry
(¢) Woollen garment industry

(@) Shoe industry

%77k



[4]
ve-( ¥ ) fem wmi 9t oid i [1%5=3]
Section-(B) Fill in the blanks :

() 60 5N | AfF MY el A P —— THEEH Fed § |
Population over 60 years of age is called ___population.

(i) A ¥ TR F9 e — T ¥ fEm S ¥
State in the lowest population in Indiais .

(iif) HTATcHF SR T AATE T I —— H5, Hl =S I ] |
On functional basis, Aligarh as well as Varanasi are good

example of cenfer,  http://www.cgboardonline.com

(iv) fomge —@Ef A FTH TFR T

Limonite is a type of mineral,

(v) BTG F WA A A — § )

The main food crop of Chhattisgarh is ___.

@us-( ¥ ) 3fea dey Sifey [1x5=5)
@ (an

() AT A (37 WE-T-¥e

(i) 9f=m | e (@) 1057 it i TR o9

(iif) 9 wETTd W fere (7) Y@ Ry =l -

(iv) HFEA 9o (3) 1084 & Wi TR oW

(v) 1@ T ¥ femeum (3 2 IR H quN

Section-(C) Match the column ;

(1 (In)
(ry  Near road and river (a) Sal, Sagaun Shisham
(i) Wesl Bengal (b) 1057 women per 1000 men
(#/ii) Europe’s sex ratio ]‘ (c) Linear settlement pattern
(iv) Monsoon region () 1084 women per 1000 men
(v) Kerala’s sex ratio () First in jute production

http://www.cgboardonline.com
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Instruction : (D) QuusiiunNus.BtuHurcvcr)-' short

-8

[5]

: qaF T W
t () W 2 A 7 T e e € >
2 3% sifen &1 (I A SR AU 30

. uestions.
Question Nos. 2 to 7 are very short answer type

: imit of
Each question carries 2 marks. (Maximum word |

answer is 30 words)

Ef"ﬂlla ] 3

? TR R 1 1wy v R Y A B IR
Abhanpur in Raipur district of Chhattisgarh is the example of which
type of settlement?

SR F WY T?
What is the meaning of birth-rate?

T | 39 T 2

What do you mean by hamlet?
HEFIS! & IR I HT 719 9a5 |
Name the origin of the Mahanadi.
TR WFaE 1 S% i 1 W@y 99R)

Draw the star pattern of settlement.

TR EEE | 1 aewd ¥ ?
What is gathering business?

: (R) mmsﬁmwaﬂﬁfﬂgﬁrﬂum’&mmm
3 3 SHfed T 1 (I A sfermam w=-d 50w §)

ANSWeT [y pe questions.
Lach question carries 3 marks. (Maximum word limj ol
answer is 50 words)

Wﬁ.ﬁ.ﬂ%%mﬂwwﬁaaﬁﬁﬁawﬂﬁm

According to Kumari E. (. Sampul,

give the definjtiop of human
geography.

mmaﬁuwﬁamﬁaﬁﬁaﬁﬁﬂmn
Explain the three factors (hat affect populatiop density

2]

(2]
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2]
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Wy1-10

WI-12

U¥3-13

wTi-14

(6]

IT sxedifes onf 1 wew =R
Explain the importance of the North Atlantic route.

I & TS F T ww fafau)

Write three reasons for localization of the induslry.

e Se-Tam sdm =1 9 Fifaw
Describe the Bhilai Iron-Steel Industry.

TriraTe W H 92 I &t feafd vre sl
Explain the status of Jute Industry in Chhattisgarh state.

&Qmaﬁﬁ#aﬂuﬂmﬁqﬁﬂm?ﬁwaﬁq
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(37) e HH FeAmTara = W HH-H © 2
(7) W1 C.M. fermam fore & 2
(9 a1y x B Ford) et e TN R 2
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Answer the following questions based on the given diagram :

::L--_‘ H a it I
EH R THE - -
y Hirr FEEH Ram
HHH O e H e R H
HH T -
1200 CEE A 1 T 33
L H AR HH HHE T
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Pakistan
Russia
Bangladesh

Main Countries

(¢) Which is the country of lowest sex ratio?
(b) What is sex ratio per C.M.?
(¢) Whaltis shown by x-axis?

Frdor ' (3) mmwﬁwmﬂmﬂnm%lmmm
4 31 T ¥ 1 (I A ifvmaw w= - 75 ¥eg §)

Instruction : (E) Question Nos. 15 (o 17 are short
Each question carries 4 marks.
answer is 75 words)

ANSWCT type questions.
(Maximum word limit of

W¥T-15 T SHNA F1 WEe 905 242-4)
Write ﬂle.ilnportance of forest resources.
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[8]

aerar

OR
W da 1 i ot T ¥ 2 Iuw IENfT qg wg Qo M|
IS & I ST |

What is the literal meaning of rocky 0il? Give its utility and examples
of the major two oil refineries.

SrRa § T ) 379 ¥ fou savas dhifas qmat @ Ao S [1+1+1+1=4]

Describe the necessary geographical conditions for the production of

sugarcanc in India. phttp://www.cgboardonline.com

arerar
OR

efta wifa %1 fawr | gagEel

Explain the Green Revolution in detail.

& TR F A HeE e S R [2+2=4])

Draw the diagram of Swez Canal and write its commercial importance.

Hear
OR

A T & e AR e WEe ARl

Draw the diagram of Panama Canal and write ils commercial importance.

. (%) v FHiE 18 A 20 TF ST WH §1 WEE W W
s s stz ¥ 1 (SN H AN TR-EH 750 IR ®)

Instruction : (F) Question Nos. 18 to 20 are long answer type questions.

Wy-18

Each question carries 5 marks. (Maximum word limit of

answer is /50 words)

m#zﬂmmﬁaﬁﬁﬁ'ﬁmwﬁ#mnmmﬂﬁﬁaﬁml
Describe the names or characteristics of the marked places in an

~itline map of India. http://www.cgboardonline.com
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[ 9]
3yerar
’ OR

BUHIE & R afay  frifea 2 wefiia w2 - [1+1+1+1+1=5]
(37) 31 TR

(&) TSt et

(®) BYETE F) UE

(%) TE URe™ TLY &1 3a[

(3) WA

In outline map of Chhattisgarh, show the following |

(a)

(b).

(c)
(d)
(e)

Energy Capital

Indrawati River

Capital of Chhattisgarh

Guru Ghasidas National Park

Bhoram Dev

el ST F TRIICR] bl Hed § 2 1 Sa-viEg Fefed

vird=i & anur W fafue

[L+1+1+1+1=5]

(%) =Ha4H
What is the name of the cattle-keepers ol East Africa? Write their life

based on the following titles :

(a)
(b)
(c)
(@)

Physical struclure
Outfit
Food

Occupation




[10]

HAGT
OR
ST et 3 Franferdi it wan wverd ¥ 2 37 s fear P T
% MR W ffiay :
(87) W 1aA
(&) =&

(F) ¥=[A

(7)) =FIa™

What is the name of the residents of Zaire Basin? Write their life

based on the following titles : http://www.cgboardonline.com

(a) Physical structure

(b) Outfit

(¢) Tood

(d) Occupation
UEA-20 WY HETHA & qEesl & av 1 36 wam ¥ say SARU [2%+2%=3)
Describe the problems ol animal resources and write s

method of

conservation.

OR



[11]
" ura Wit Wl F €, Sefie ) R R mem R gre i [S)

“India is not poor in natural resources, but in technology.” Substantiate

this statement.
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